275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

GRILLE
Kenworth T800

INSTALLATION INSTRUCTIONS:

1. Remove the factory grill. Set all hardware aside, as it will be reused.

Note: The aftermarket grill does not include a screen. It is recommended that the factory grill screen be removed, cut down

and installed to the backside of the aftermarket grill. To do this, remove the 9 bolts holding the grill bars to the grill. Remove
screen and cut down to 26" x 37" using tin snips. When pre-assembling aftermarket grill bar (step 2), cut holes in the screen

at the corresponding grill bar hole locations and use the 10-32 screws and lockwashers to hold the screen to the back of the

grill sides. This method will require two installers to install the grill.

2. Remove the protective plastic around mounting holes and on the inside faces of the grill sides. It's recommended that the grill
bars have the plastic fully removed and cleaned after final assembly.

3. Loosely assemble the grill bars to the grill sides using the supplied 10-32 screws and lock washers. Do not tighten the screws.

Leave out the 4 grill bars that are adjacent to mounting holes.

Attach the bottom strip to the truck in the center 4 holes, using the factory hardware.

Insert grill assembly into the truck opening and re-install factory hardware.

Attach the top panel using the factory hardware.

Reinstall the grab handle hood ornament.

© N o U ok

Tighten the hardware, remove the rest of the protective plastic, and clean with a cloth if necessary

Page 1 0f 3 00812928 02/2013



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

CALANDRE

Kenworth T800
INSTRUCTIONS D'INSTALLATION:

L1

1. Retirez la calandre d'usine. Conservez la quincaillerie pour la réutiliser par la suite.

Remarque: La calandre de remplacement ne comprend pas la grille. Il est recommandé de retirer la grille de calandre
d’usine, de la couper puis la réinstaller a ['arriere de la calandre de remplacement. Pour ce faire, retirer les 9 vis retenant les
barres de calandre a la calandre. Retirez la grille et coupez-la a une dimension de 26" x 37" a l'aide d'une cisaille. Lors du pré-
assemblage des barres de calandre de remplacement (étape 2), percez des trous dans l'a grille aux emplacements des trous
des barres de calandre et utilisez les vis 10-32 et rondelles pour fixer la grille a l'arriere sur les cotés de la calandre. Cette

méthode nécessite deux personnes pour installer la calandre.

2. Retirez la pellicule protectrice en plastique autour des trous de fixation et sur les surfaces intérieures des cotés de la calandre.
Il est recommandé de retirer entierement la pellicule plastique sur les barres de calandre et de les nettoyer apreés ['assemblage
final.

3. Assemblez sans serrer les barres de calandre aux cotés de la calandre a 'aide des vis 10-32 et des rondelles de blocage fournies.

Ne pas serrer les vis. Laissez de coté les 4 barres de calandre adjacentes aux trous de montage.

Fixez la bande inférieure au camion dans les 4 trous du centre, avec la quincaillerie originale d’usine.

Insérez la calandre dans ['ouverture du camion et réinstallez la quincaillerie d'usine.

Fixez le panneau supérieur en utilisant la quincaillerie d"usine.

Réinstallez l'ornement de la poignée du capot.

© N o ok

Serrez les boulons, enlevez le reste de la pellicule en plastique et nettoyez avec un nettoyant a vitre, si nécessaire.
Page 2 of 3 00812928 02/2013



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PARRILLA
Kenworth T800

INSTRUCCIONES DE INSTALACION:

© N o Uk

. Quite la parrilla de fabrica. Guarde los accesorios ya que seran utilizados nuevamente.

Nota: La parrilla del mercado de accesorios no incluye una pantalla. Se recomienda quitar, cortar e instalar la rejilla de la
parrilla de fabrica en la parte trasera de la parrilla del mercado de accesorios. Para hacer esto, retire los 9 pernos que sujetan
las barras de la parrilla a la parrilla. Quite la malla y cértela a 26” x 37" con tijeras de hojalatero. Al pre-armar la barra de la
parrilla del mercado de accesorios (paso 2), corte agujeros en la pantalla en las ubicaciones correspondientes de los orificios
de la barra de la parrilla y use los tornillos 10-32 y las arandelas de seguridad para sujetar la pantalla a la parte posterior de
los lados de la parrilla. Este método requerird dos instaladores para instalar la parrilla.

Quite el plastico protector alrededor de los agujeros de montaje y en las caras laterales de la parrilla. Es recomendable que las
barras de la parrilla se les quite todo el plastico y se limpien al final.

Ensamble sin apretar las barras de la parrilla a los lados de la parrilla usando los tornillos 10-32 y las arandelas de sequridad
suministrados. No apriete los tornillos. Deje afuera las 4 barras de parrilla que estan adyacentes a los orificios de montaje.
Coloque la tira inferior al camidn en los 4 agujeros centrales, usando los accesorios de fabrica.

Inserte el ensamble de parrilla en la apertura del camion y re-instale los accesorios de fabrica.

Coloque el panel superior usando los accesorios de fabrica.

Re-instale el adorno de la manija del capd.

Apriete todos los accesorios, quite a cubierta plastica protectoray limpie con limpiador de vidrio si es necesario.

Page 3 of 3 00812928 02/2013



